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This section contains 4 descegitive Cope questiony
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any two questions (800 words cack) AW qusations carry
‘vliul! marks.
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4.  Write advantages of functions i C-langunge 5
Cc.vrn # wem # e ferfeo

Or/ Naan

5 Find the lowest degree polynominl which takes

/ the following values http://www.uokonline.com 5
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2 B
3 15
4 24
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5 35
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sin 45° = 0,7071 sin 50* = 0 7660

sin 55" = 0 K192 sin B0* = 0 K660

€ loiog Lt

Find the value of sin 52* by Newton formula

for anterpolation

fem wsn ko
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«<in 45* = 0.7071 sin 50" = 0 7660

sin Hh* = 0.8192 sin 60° = 0 8660
A ek {3 W T W sin 527 W W
T wifm
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7. Find the form of the function given by the

following table : 5

frm mEoit @ A w w9 Am AT

x fix)
3 3
2 12
1 15
-1 -21
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8. 7 Find f'i5) from the following table
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g 922
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9.  Evaluate the following integra] by using Weddle's

rule :

10, Use Picard’s method to find approximate value

of v when x = 02, given that y = 1 when

wod dutjuoon mma//:diy

d
x = 0 and £=-"'." &
GrprE Faf1 W WEM BT o« = 02 Ty W wER

dy
ura WA s g ekl am oy =1 W
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Using method of false position, find the real
root of the equation 5
. X -2x-5=0 '
faoqn-figfa fafa zm w®™ O - 20 -5-0 W
mafrs gm Fm Wb
Section C/UTE-H

btain the estimate of the missing figures 1n

the following table hitp:/www.uokonline.com V8
frem mroit 8 s@m nfp W AR TR

x [ (x)

1 1

2 8

3 —_

1 64

5 =

6 216

7 343

8 512
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13. l..c Gauss's forward interpolation formula 1

( find f132), given that - 108
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{1251 =0.2707 £130) = 0.3027
(351 = 0 3386 f(40) = 0.3794

11 Cualculote the value of the following istegrat-
by

1 -

Ilnmx - log, x + " Mdx

n

() Simpson 1/3 rule 5e5=10
b Trapezoidal rule. 4+d=H
=1 THTFA W OWR T wifam, .

14 ' ,

Itsin:-log,x«-e )dx
(@) e 13w A
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